18

|Ie

BB (178

i< LIRFVE

vy 5 -5ARASC

H2000 (050x50)

& 2520 (B

KFTHO1954

/—

H
/
|

]

& 5B

O&FAN (1/8)

800

0550

::::::%f { — i —
Q Q
///S"y 750 *VZ\\\
2390
52 1103 10 1103 52
14 :ﬂi\/\ (:i /}lb[:as s
ry ‘(' S -
° 1 __Q\Q
b - (==
¢ ) ° ol o
il A \\ 1~ \\ IT
n A
Y b &L » b @ D %3

@]

HIN (1720

AR08
) BROREIASETETT,

Y

=

NERFFA (1710 ZHFAN (1710

HE LRI B % (mm) i B i z
1 mAEE BHEAY) 050x50xt3.2 STKR400 HENRER (ThiEfin- &)
2 PR (RAD 50x 120 AB063S BRBLEAKE
3 FEMR (GAD 50x120 AB063S BRBILEAKE
4 FEMR (24D 50x 120 AB063S BRBILELKE
5 PEER 25% 60 AB063S BRELEARE
6 HMLL AN 0.5 SGC HENRER (ThiEfin- &)
7 fEin n— 12 A1100P 2%
8 Kivy 7 ¢ 16/ F40Y -
9 vy §-§t ASCy U -% - J- 8
10 SERfT 7L - b t2 ATYUA -
11 SERMTL - b t2 ATYUA -
12 it 060x 30xt2.3 STKR400 HENBRER (TEHY- &)
13 k7L - b t2 ATYUA -
14 BiExry 7 060x 30/ PE -
15 EYYR té SPHC EREEE (TEf»- %)
16 kyy té SPHC HENRER (ThiEfin- &)
17 kY ISk $12 SGD ERidnn o &
18 gy 4x 20 ATYUA -
19 Eg 12 &l -
20 RUEZE 12.3. t3.2 SGH EREEE (TEf»- %)
21 BiR t2 ATYUA -
22 UKL Y - t1.5 ATYLA -
23 U $12 ATYUA -
24 ZED) t1.5 A6063S. EPDM -
25 Bt R b M10x 75 4.618% ERIEHD - &
26 4 IRy M5x 10 ATYUA -
27 ] M4x 10 ATYLA -
28 b AR M8x 45 ATYUA -
29 " M5x 10 ATYUA -
30 " M4x 10 ATYUA -
31 SUNLT 316 PVC -
32 F7A by K - H52 BEPRSAN2A L -

0F) BRARIBROLY. FELKERET I LAHYVET,
BIEHE: vy -, BRFRERVET,
YUy F-5 (- V8 ASCy ) -X#ZBAEITL,
(Ry 7€y +64mm. BES0mm) .
LROBAE. RT3 -V IV F-%IBALLET W,




